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1 k Solving Sequence

A knot diagranﬂ ¢ € C2 Cr i 63 G Cio

Ideals for irreducible component#ﬂ)f Xpar

I = (u® —u* - 2u? - 1)

* 1 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIy = (u*® —ut" ... +2u% — 1)

(i) Arc colorings

w- (1)

ag —
a7 =
a)p =

asz =

wll — 249 + 207 — u?
ul® — 3ut +5u% —4u” + 20 —ud +u
U32—7’LL30+°"+2U12+1
u34—8u32+-~-+4u6+u2
w?l — 4wt + 907 — 12015 + 12013 — 10wt + 90 — 6u” + 3u® + u
u?! — 50 + 130 — 20u'® 4 200’ — 13utt + Tu® — 4u” 4 3u® — ud +u
—ut? 4+ 9ut0 .~ 1
—u*? + 10u* 4 -+ 2ut — u?
( —U/42+9U40+"'—U2+1 )

as = \ —u? +10u*0 + - 4+ 2u* — 2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®6 + 444 + .- + 8u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq ut® — T 20— 1
Ca u® + 230+ du+ 1
€3 u®® 4 5utT 4+ - 4 440u + 41
€4,C5,C8 u®® T —2u—1
Cy
¢t u®® +ufT 4~ 46u — 13
c10 u'® — 13u” + - 4 248u — 23
c11 ul® —3ut" .+ 92u -9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1o y48_23y47+..._4y+1
o y48+5y47+..._12y2+1
cs y*® + 1794 + - — 50264y + 1681
C4,Cs, C8 y48_55y47+..._4y+1
C9

¢ y*® — Tyt o — 6692y + 169

‘10 y4s _ 7y47 + .-+ — 5752y + 529

1l y48 + 13y47 + .- — 8824y + 81




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u=0.950359

—7.68002

—11.9160

uw=0.906245 + 0.5602281

—6.74396 + 1.233141

—7.83364 + 0.666581

u= 0.906245 — 0.5602281

—6.74396 — 1.233141

—7.83364 — 0.666581

u=0.654967 4 0.6396681

—6.00272 — 5.947331

—6.48259 + 5.467141

u=0.654967 — 0.6396681

—6.00272 + 5.947331

—6.48259 — 5.467141

u = —0.958032 + 0.5334711

0.422311 + 0.7638131

—4.66179 4 1.114751

u = —0.958032 — 0.5334711

0.422311 — 0.7638131

—4.66179 — 1.114751

u = —1.079460 + 0.2768511

—2.59116 + 0.360311

—7.93807 — 0.879761

u = —1.079460 — 0.2768511

—2.59116 — 0.360311

—7.93807 + 0.879761

u = —0.612298 + 0.6178241

1.43265 + 3.796561

—3.21409 — 7.282821

u = —0.612298 — 0.6178241

1.43265 — 3.796561

—3.21409 + 7.282821

uw= 1.009290 + 0.5404031

1.00278 — 4.133511

—2.80982 + 6.672841

u= 1.009290 — 0.5404031

1.00278 + 4.133511

—2.80982 — 6.672841

u = 1.118000 + 0.2486461

—4.32121 + 2.985171

—12.02372 — 4.322211

w=1.118000 — 0.2486461

—4.32121 — 2.985171

—12.02372 4 4.322211

u=1.109880 + 0.3329501

—5.19194 — 3.059951

—13.8975 4 5.05291

uw= 1.109880 — 0.3329501

—5.19194 + 3.059951

—13.8975 — 5.05291

u= 0.320233 4+ 0.7703381

—7.65892 + 8.017181

—7.88582 — 4.623711

uw= 0.320233 — 0.7703381

—7.65892 — 8.017181

—7.88582 + 4.623711

u = —1.144450 + 0.2422491

—12.21720 — 5.147501

—14.0897 4 2.55401

u = —1.144450 — 0.2422491

—12.21720 + 5.147501

—14.0897 — 2.55401

u = —0.466321 + 0.6826421

—3.08169 — 1.065391

—4.15324 + 0.484381

u = —0.466321 — 0.6826421

—3.08169 + 1.065391

—4.15324 — 0.484381

uw= 0.541320 + 0.6094661

2.38297 — 0.424751

0.428840 — 0.1544221

u= 0.541320 — 0.6094661

2.38297 + 0.424751

0.428840 + 0.1544221

u = —0.330482 + 0.7449771

0.08939 — 5.704191

—5.22111 + 6.437411

u = —0.330482 — 0.7449771

0.08939 + 5.704191

—5.22111 — 6.437411

u = —1.143670 + 0.3422581

—13.35450 + 4.592591

—15.0956 — 3.62251

u = —1.143670 — 0.3422581

—13.35450 — 4.592591

—15.0956 + 3.62251

u = —1.050160 + 0.5679011

—4.79213 + 5.900071

—7.32134 — 5.681661




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.050160 — 0.5679011

—4.79213 — 5.900071

—7.32134 + 5.681661

u = 0.346872 + 0.7035991

1.51359 + 2.157341

—1.22557 — 1.036581

u= 0.346872 — 0.7035991

1.51359 — 2.157341

—1.22557 + 1.036581

u = —1.108460 + 0.5187371

—3.93668 + 4.448881

—11.97527 — 2.814551

u = —1.108460 — 0.5187371

—3.93668 — 4.448881

—11.97527 + 2.814551

u = 1.107780 4 0.5539221

—0.69945 — 6.985621

—4.89380 + 5.041071

u = 1.107780 — 0.5539221

—0.69945 + 6.985621

—4.89380 — 5.041071

u = 1.134660 4 0.5063891

—12.24490 — 3.332221

—13.52387 + 3.395811

u = 1.134660 — 0.5063891

—12.24490 4 3.332221

—13.52387 — 3.395811

u = —1.122190 4 0.5621781

—2.22657 + 10.656401

—8.51135 — 10.015331

u = —1.122190 — 0.5621781

—2.22657 — 10.656401

—8.51135 + 10.015331

u = 1.132630 + 0.5665011

—10.0472 — 13.04501

—11.01452 + 8.259361

u = 1.132630 — 0.5665011

—10.0472 4 13.04501

—11.01452 — 8.259361

u=0.180677 + 0.6980131

—9.54554 — 1.199291

—10.13609 + 0.351341

u = 0.180677 — 0.6980131

—9.54554 + 1.199291

—10.13609 — 0.351341

u = —0.240215 4 0.6258651

—1.54227 + 0.026201

—8.94545 — 1.265031

u = —0.240215 — 0.6258657

—1.54227 — 0.026201

—8.94545 + 1.265031

u = —0.563965

—0.872825

—11.2330




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce u® -t -1
C2 u*® + 230+ du+1
€3 u*® +5utT -+ 4400 + 41
Cy4,C5,C8 L B LT W |
Co
¢ u'® +u'" 4+ — 46u — 13
c10 u®® —13u*T + - 4 248u — 23
c11 ut® —3utT 4+ 4+ 92u—9




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Cé y*® =23yt . —dy 1
c2 y® 5y 122 1 1
€3 y*® + 17y + - — 50264y + 1681
C4,Cs,C8 y48_55y47+.”_4y+1
Co

cr y?® — Tyt - — 6692y + 169

c10 y*® — Tyt 4 — 5752y + 529

11 y*® + 13y + - — 8824y + 81




